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645 A9 H FLIE R SR S B P e R VA SRR HiUE B R BR BT A 2 5,900,000 4,690,000
645 H 9 H FLIR R RSB P TR A DR XA LI X i 28 dh s 2 A 37 7,250,000 5,690,000
A6 HIH A E%’%;O% LT A1 IR L6 AR AL 5,530,000 4,340,000
AF645H 30 A EN —MRERE275% HEET PN E B S IR A R B 7,220,000 5,700,000
S6ME5 A30H E N CR SE/N S IR/NE) (T 2 TR R Ui 8,780,000 7,000,000
AFI64E5 H 31 H A FRF)ISHE THEOW R RS R gee i & 2% 7,470,000 5,900,000
66 H 6 H E N —MXENE 2 7 65 Tk SRS L R O R 6, 720, 000 5, 320, 000
646 H6 H EE w99 0 A mBEAREFETT [EEAR  EN SRS 7,710, 000 6, 130, 000
66 HTH CIREIE: =735 WO NEE K H AR B 53 AT 4 i A 2 35 4, 940, 000 4, 050, 000
646 H 13 H E N —AXIERE 1 25 3 TVIE AN S A ) 2 4, 850, 000 3,800, 000
SH6FE6 H20H B RIGE R FH T @%Jiﬁé%%% GRALEGIE LAS  E 8, 730, 000 6, 950, 000
A F6EE6 A 24 A %ﬁ&“ié 1 2% @I 2250 KE IS A MR A I R 5 8. 850, 000 7,010, 000
1646 H27H FLIRAL B2 B P BROKHIK  I7E DA B RF R EHS 7,420, 000 5,900, 000
SH6E6 H 27 H RN BT B I S R ERCESS 8, 800, 000 7, 000, 000
AMEFETH AR AFB BTk 2EUs AT IR A AR L (i o S SR I B 5, 450, 000 4, 280, 000
TFI6EETH 8 H FLIUTR | =5 T FLIRTR N B e N B s 8,910, 000 7,070, 000
AFI64ET A 11 A A géﬁ 27 5% FLBRM XA RGE R A IR A ER 8 500, 000 6. 730, 000
AFI64ET A 11H A —MEE 2 3 0% AL AL 1 6 RPEASEA MR 8 320. 000 6. 600, 000
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TFI64E8 5 H FLURIR N =5 T AR R B B A S s 8, 450, 000 6, 710, 000
A FI64ES ] 22 [ A %ﬂgﬁé 125 FITLES CA N R (i e A 5 5, 420, 000 4, 350, 000
FI6E8 A 22 A ESH TERIRIIRHIIK P 5 MR /K I R A 5 3 5 6, 500, 000 5,110, 000
648 H 23 H A SN HEEDN GRS || SRR £ ) 2267 4, 650, 000 3,640, 000
A FI64ES ] 23 [ A gigig&%é%‘%%@ PN AR K Ml S B Ml DX K AR A 6, 810, 000 5, 370, 000
A N64E8 23 H T 3T 1 85 FAA) 1 HVE R A 5 7, 860, 000 6, 120, 000
TR6EE9 H20H EENZ b a i B T HEEEMERFOPY VA & 2 A8 P B IR A I AR R A 65 7,420,000 5,950, 000
N6 H 24 H BN & D e PR T HEEEMERF O 8 L5 & DA G2 8 ] R 2675 7,730, 000 6, 220, 000
AFIG4E10 A 4 AT %?JH@WE%%ODW PR ) || TR AR B P i A S 4, 560, 000 3. 730, 000
6411 15H = RUSOPIE =530 ARAT I K 1 3 it s LR A S 8,570, 000 6, 880, 000




